CZZ 5l
B (3 3 8 g AT &2

International standard chemical pump

CZE. FEFREXREMNNRAN. ' .
RESERVE :HE RIGHT TO ALTER TECHNIQUE. M ARIATERAE : APIB10(5E+RR) HERiIAH

e

WL LA FR 2 vl

. ZHEJIANG YANGZIJIANG PUMP CO.,LTD

ARMHE: BT E KRB AT X
FE i (B §4 3B):0577-67980805 67980810 ‘

67980813 67980815
= EpEE . yzj@wwwwww.cc
# Fip%E: jwvalve@163.com

| ; 1% e
?ﬁ‘ttgééazsé-ns??—a%%csoazo Wi: £[: jﬁ ? {I: 4 \S ![k ﬁ. FE N ﬂ
EIRME: 0577-67980805 ZHEJIANG YANGZIJIANG PUMP CO.,LTD

Hp #w. 325105




A ERZ”

CONTENTS ¥iIm

m Al , HAF AR

7= an ik ik

Product Introduction

EESiEHA

Type Designation

HEH% s

Structural Features

TE&H
Working Conditions

g

Structure diagram

FEFMHR

Table of main parts

B i

Spectrum diagram

BASH

Technical Parameters

R 5 v JoHE Ak 1) 35 B2 A B 0L AT Ol 14 RE IR

01

01

01

01

02

02

03

04

36

Corrosion resistance option of materials for pump's main parts touching medium

ZG1Cr18Ni9(302)5 & i il i 1 hE %

ZG1Cr18Ni9(302) Comparison table of corrosion resistance of steel

ZG1Cr18Ni9Ti(321)50 & it fi i 14 Ak &

. ZG1Cr18Ni9Ti(321) Comparison table of corrosion resistance of steel

ZGOCr18Ni12Mo2Ti(316Ti)$R A it 5 it 14 Bk
ZGOCr18Ni12Mo2Ti(316Ti) Comparison table of corrosion resistance of steel

ZG1Cr18Ni12Mo2Ti(307)5 it /&5 i 14 BE 3%
ZG1Cr18Ni12Mo2Ti(307) Comparison table of corrosion resistance of stael

ZGOOCr17Ni14Mo2(316L )5 i /& fi 14 Ak 3
ZG00Cr17Ni14Mo2(316L) Comparison table of corrosion resistance of steel

RAFTEE

Schematic Diagram for Pump Assembling

36

37

38

39

40

41

(R

-

<< Fmitid >>

FRBITIRE: APIS10(%+AR). VDMA24297(HH)
CZRIFRLIREE, 28, RBELR, FRHE
DIN24256. 1S02858, GB5662-85fr/f. BIFELIRMN
EX&&.

EEWEREAATE. PHERERME. WENSHE
EE. FERERBMNNR., TEATHI. RELI,
WS, BRI, BiRK, KEDER. K%, SIWSTL,

<< BISHEA >

CZ 50 - 32 - 200

HitE X EE

RHONE

—— EAONE

RIIRS

<< SMER >

RiE: RAREMZREN,;

. A, ¥FK, 2FAMHE, CZRIFHEAHNEE
BEM AN EEFETE, RREEHBRRRE

Wi SEHERBMAEHEE, RERERTTESEM
wWHAR

BE. MI\TRARE, AIRAREES. RMENMESR.
WAL, ERNMAEHERES

B MAARAWEER, BECERFESEE, TS
R UE Bl . 7E W 0F ) RS T T

H: AWMERSP, HLTRERSHEMEEEM, 28

B RO 1 AR 95
BRIt AR TR B, RIATdEie. EAAE

<< T&E#H >>

# $EI®: 2960r/min, 1480r/min,

i i MQ=2~2000m%h: FHEH=<160m:
 T{EREE: -40~+2607T;

W TIEEN <=2.5MPa;

W OMERAE, MIESVERE, TR o

International Standard Chemical Pump

CZF 5 E Br#r L TR

< Product Introduction ~>>

Executing standards of product: APIE10{Ed.10) and VDMA2437
(heavy-duty).

The CZ series standard chemical pump is a horizontal, single-
stage and single-suction centrifugal pump, which conforms to such
standards as DIN24256, 1502858 and GB5662-85, which is a basic
product among standard chemical pumps.

It's applicable for transporting media being low-temperature or
high-temperature, neutral or corrosive, being clean or containing sclid
grains, or being poisonous, inflammable or explosive. It's mainly
applied in such industries as chemical engineering, petrochemicals,
steel works, power plants, papermaking, pulp, medicine, food and
sugar refining.

<< Type Designation >

CZ 50 - 32 - 200

Nominal diameter of impeller

Pump outlet diameter

Pump inlet diameter

Series code

< Structural Features ~>>

Pump body: adopting foot supporting structure;

Impeller: enclosed, semi-open and full-open types; the CZ series
pump's axial force is mainly balanced by the back blade or balance
hole while the residual axial force Is born by the bearing.

Pump cover: It works with the sealing gland to form a sealing cavity
and the standard cavity dimensions can be provided with various seal
types.

Shaft seal: according to different working conditions, such seal types
can be adopted as packing seal, single end face mechanical seal,
double end face mechanical seal, and mechanical seal in series.
Bearing: it adopts the thin oil lubrication mode and the oil level is
controlled by a constant level oll cup, thus fully ensuring that the
bearing can work in a good |ubrication state.

Shatt: it's protected by a bushing to prevent the medium from contacting
the shaft directly to improve the shaft's service life.

Tow-behind design: it's avallable for maintenance without moving the
pump's inlet and outlet pipelines, thus easy for use.

<< Working Conditions >>

# Rotation speed: 2960r/min, 1480r/min,

# Flow Q=2~2000m?nh; Lift head H=160m

# Temperature work: —40~+260C

# Press work =2.5MPa

# Rotation direction: the pump rotates clockwise when seen from the

drive end.

>> 01 <X




lntarnntional Standard Chemical Pump

International Standard Chemical Pump

CZRF|EFHEL TR

----------------------------------------------------

<< #¥E Structure diagram >> <<  HilM@E Spectrum diagram >>
H(m)
M3 Y (Rl . b L) R (S KB S5 4) 200
Common type (single/double-end-face mechanical seal) High temperature type (with cooling water jacket structure)
oy R Tt o GBI B . L 6T B d & s O i e
i1 e dans ke i 65-40-31 80-50-315
_\ \ 1 f 1 - 38 . il 1 100'65'3”}125-&&;15 125. |
TR f = — o553 2 e 1 100-315]
|| | / ""-f — E; Mg |
\I |I | A ﬁs-em-zsu—L3“'5”'25“~}lom55.250{125.30 25011 25"}{
\ | 18k | | — ~ ~NT A 100-250]
Vlk | [Cmiegl | i k3o 65-40-200 - 80 mam--[-lm-ﬁ 200/ =
S ‘ | | o - If H Ihzs-s«:}-zou
| % 50-32-160 / f ‘i ’100 200
| | [ 6540-160 80-50-160 ~I0(I-65-I6L"| |
/) i i L‘ |25-BD-I6(II B
= = == yilmns ;i .
yoil '| | ~J/ . n=2900r/min
i = . _.4,—— : | 10 20 0 40 50 100 200 300 400 500
| . Q(m*h)
| | / |
|
| e / 4
| b 4 2
[ i
20/19/ 18/ 17/ 16/ 15/ 14| 13| 12| 1} 10 19/ 18/ 17/ 16 H(m)
100
'; | T i
200-150-50
= gy~ I:sn-zms 300 e
: 50 ] B S | I 250-59% a0o-500]
<< FEFIHR Table of main parts > > 40 =S e f 1 125-80-400 j[ 125-}155 00 1504001 / /
£ e — IOMIJD A00 b 50-200-40 0,
-\-.l. Sy e — 300- 350-
o T O T T T BT T W 15(:400‘!500-400
Fs et FE W Fe =1 Fs =E = L 80-3 S%IUO-SIS ;%5 200-150-315 i s =
No. Name No. Name No. Name No. Name 20— 6‘;‘;;—- . I“T U b %K‘ l'
- -40-250 = 50-200-319 | S| 3
50-32-250 " R0-50-250 ..‘35'15 125- 5 {a‘}
4 Rk " B0k de R e FHER AR 0 fo e so2sf 12s- s Nz
Casing Suspension Pump shaft Sealing gland ~~ e -m.f' I~ H | |/100-250 25(1,' 200-150-250] (550 f
50-32-200 | | [65-40-200( |80-50-200 (e bl I~ n200:
i g ? SHE i R 2 e e 10 / ik M H 0
Impeller Air hole cover Qil drain screw plug Bushing = A e PR, L | 125
1/ 100-200 ]
4 1n i e Y QO B?ﬁ 13 -::ffmﬁ 18 | w h’ﬁkl-' bolt T fﬁs'ﬂ'lwlu e '67{ o
ump cover wear ring rng Il gauge atar darainage bo 5 e r__“‘-_“ / g].m{]}
g R 4 WAHE S i il U i 1 W4k [ 3R 5 ~~L] :
Pump cover Bearing front gland Bearing rear gland Casing wear ring 3 ~J |n=1450r/min
5
: — e o s 4k B & I 10 20 30 40 50 100 200 300 400 500 1000 2000
Mechanical seal Suspension bracket Water deflector Impeller nut Q(m*/h)
>> 02 << >2 03 <<




International Standard Chemlcal Pump

.......................

.........................

<<  t%fEfh4 Performance curve >>
i 2900 | AR | 50 | HHOR |32 R 9. 1450 | MA QR | 50 | HHO# | 32
%E CZ50-32-160 Speed r/min | r/min ﬂclcdihcr mimn | Outlet caliber [ mm Type €250-32-160 Speed t/min | r/min | Inlet caliber | mm | Outlet caliber [ mm
Himy:| 50 = Him) 12
1= 1 et ISR WY b
ki CP A e
S T 1 amaia __;'E =AY = T.l.. I .'? ."l_ C ~ =4
. e 1 R . o [ o a===m =
i @ i = = 1 B ==
I1 o . = 6 \ l‘ = .
W LlI B A : i K0Ty S S —-———
= 2 ) Eam 4
10 —— =T p
1
0 : 0 i
Crmin COimin
8 4
[ I 3 1
4 Hr 2
« NFSH 2 L= = HPSH e =
LI ————— = B 5 10 15
0 5 10 15 20 25 Q{m’:; o
: 2900 | WA 1455 | S0 WaE | 32 Y- M | 1450 | A CER | SO | HeLAE | 32
%;i- CZ50-32-200 Speﬁl%mm oimin Irﬁﬂ"fr e Uﬁt-mmm mm | Type (iﬁﬂ-i?-ZOﬂ Speed r'min | r/min | Inlet caliber | mm | Outlet caliber | mm
Him) 70 T T : Him} 25
| I
]
&0 & ﬂ.._-_ ] B b
1 g L) AR ds
. s - H1t - 15 (R i
i e S i ] ] - I i =
40 'll II i - 1 10 s 1 : ____- =
= = ==-. i 1 = L=
= =
ljﬂ = L] 1
| | ||
i o
D U Qmin
4 TH e L6 i A L -
3 o - 1.2 i
] —_—— 0.8 T i
NPSH | 1 NIFSH 0.4 I I
(m)
L 5 10 15 20 25 a0 il 5 10 15
Q(m'h) Q{m’h)
<< taEE¥EX Performance parameter table >
v FRENTER# Pump's rated rotation speed n=2900r/min | REEHE Pump's rated rotation speed n=1450r/min
.}ﬂ; impeller | ik ﬁ% BHLThE Motor power kW il I_;ﬁfd FH1LTHE Motor power kW
% Capacity| Head 135 1 op 1.35 | I 1.84 |Capacity He 100 | Pc® 135 | ECTE 1.84
b m¥h | (m) Spegcmui &E&wm Bpat!:weiu-t m¥h | (m) Spetgn W‘Spaacwalm
A 22 a3 5.5 75 11 11 8 1.5 22
B 20 30 4 85 T.5 10 7 1.5 1.5 22
CZ50-32-160 C 18 28 4 8.5 T 9 B9 b | 1.1 16
D 15 21 4 55 7 o 1.1 11 1155
E 13 14 2.2 8 4 6 3 1.4 141 1.1
A 19 52 1 11 15 10 12 22 22 3
B 18 48 7.5 11 15 9 11 1.6 22 2.2
CZ50-32-200
C 16 40 55 1.5 11 8 10 18 1 E_ LAl 2.2
D 15 | 30 4 5.5 75 8 8 1.6 15 1.5

>> 04 <<

<a

SpRER¥ERTE Overall installation dimension diagram

International Standard Chemical Pump

 CZRFIERFHFRENR TR

>>

<<

RHLEK

>

Total length of motor(mm)
n-@dl s K
W1 .6MPaiE 2= R, 1 Sh e B Seat Y | YB
Additional drawings for 1.6MPa flange dimensions number gﬂpd*gpd QPOH‘iﬂPOH
| 90S 360 360
90L 385 385
3 ' 100L 425 430
<< FERTR(GEZMITGBI113.1-2000 PN2.5MPa) >> A . e
Flange dimension table (flange as per GB9113.1-2000 PN2.5MPa)
1325 510 510
DN @D Dk od b n-od1 132M 550 550
50 165 125 ®99 20 4-018 160M 655 655
32 140 ®100 ®76 18 4-018 160L 695 695
< E#R-T3%® Installation dimensions table >>
=me MR~ Overall dimensions of pump JEEER <t Base dimensions
Pumptype |pNs|{DNd| a | h [ |t | o | i | JRMNEE [ | 1] B [B1|L2]|a| e nmaxL
90S/L~112M 900 | 390 [ 350 | 600 | O | 150
CZ50-32-160 | 50 | 32 | 80 | 132|160 |385| 3 | 75 125 4-M12 x 250
1325/M 1000| 390 | 350 | 660 | 0 | 170
90S/L~112M 900 | 390 | 350 | 600 | 0 | 150
CZ50-32-200 | 50 | 32 | 80 [ 160|180 |385| 3 | 75 1328M | 125 [1000| 390 | 350 | 660 | 0 | 170 | 4-M12x250
160MIL 1120|390 | 350 | 740 | 0 | 190
>> 056 <<

—— —————

D —




International Standard Chemical Pump

CZFR 5B Brt5 /L TR

<<

iy

International Standard Chemical Pump

..................................................................

CZF Y B P LR

...............................................................

SpE%ZERTE Overall installation dimension diagram

>

Bl

<< ¥gEd4 Performance curve ~>>
iy = Lee 2900 A0 50 | o |32 e 1. il 1450 | A O | 50 | fE DGR | 32
Type CZ50-32-250 Speed r/min | r/min I%etcalibcr mm | Cutlet caliber | mm Type CZ50-32-250 Speed r/min | r/min Inletmlib:-r min Dmle‘tcal:il::r mim
H{m) 130 . 1 Himy ]UI ,[ -
120 -
10 - = 25 RS
1op EEGTHFTY ] F’,-.__ : 1]
9t 2 T-"- = = gEs ] = ) : il
0 g ] i A = T 1 il ’ . 3
0 T o = e . o =5
0 P ; = 15 WPt -
30 - | 1 ] = P4
40 = S
5 10
20
g I § 1 1 [
| Qrain i o ; ¢ L : : =
6 3 1 = il 'ﬁﬁl o -
4 1E ] !
NPSH 2 == = i NPSH | i - |
o . 5 10 15 20 25 0 .18 i 5 1o 15
Qim'h) Qfm*m)
W5 7m0 manz] 6] w140 (W9 sq0 Vol | 1450 | A1 | 65 | HEHOE | 40
T | CZ65-40-160 | o T | i in | ok satiber | mm | Outetcabiber | mum | | Type [ 46540160 | speed min | s/ | tnit cativer | mem Oullet caliber | mm
Him) 50 I I " e Himy 12} T
Felh b 'l ! : _:f - “Ihnq v T [ -1 ]
41] i G l‘ - - il] 1 I'\‘I - ﬁ‘—' 5
o ¥ i =
e e = " Eiyme
C L 7 I SR T
s : s s BIS8 it = r .
20 = 1+ 5 11 = - I I
= 5 4 - -
; ' 3 = -
10 I == 2 - E 1
SEEEE FH ; | =EEESSEE =as
0 " Omi Qmin
’ min ; 1 £ '_AI'Fr. 4 |r t [ : ==
3 } 1 :-. T
2 e = 2
wesH R =H 1 i I i = i
). 0.g 10 20 30 20 50 00 - 0y 5 10 15 20 5 30
Q(m'/h) Q(m'/h)
<< {4gE8¥FE Performance parameter table >>
A REEHM Pump's rated rotation speed n=2900r/min | $EMEFEE Pump's rated rotation speed n=1450r/min
v impeller | Wk | 52 FaLEhE Motor power kW R | e Ha#130 % Motor power kW
ype Capacity Head [ 100 | el 1.35 | LI 1.84 (Capacity BE1.00 | HE1.35 | Pe 1.84
s mih | (m) Sp&mm Smi:wamt &ﬁ;nwﬂ m¥%h | (m) &a#c 2 Sr.\a#: i Spag:wﬂ
A 20 82 185 22 30 11 19 3 4 5.5
B 20 | 74 15 22 30 10 | 18 22 3 4
CZ50-32-250
c 18 61 15 18.5 22 9 15 2.2 3 4
[n} 15 48 T.5 11 15 8 12 2.2 2.2 2.2
A 30 32 7ib 1" 15 15 8 1.5 1.5 2.2
B 28 30 7.5 1 11 15 7 1.1 1.8 2.2
CZ65-40-160 >
(] 26 26 5.5 7.5 11 14 5 4% 11 1.5
D 22 18 4 S5 7.5 12 ] 11 1.1 11

>> 06 <

4

B
oD << HIEK >>
Total length of motor(mm)
n-@dl s K
W1 .6MPaik 22 R, ) A P Seat Y YB
Additional drawings for 1.6MPa flange dimensions number [245Polel4 £ Polel2#kPole[4Pole|
i 90S 360 360
0L 385 385
100L 425 430
<< E2R<%(E2NITGBI113.1-2000 PN2.5MPa) >> 112M 455 460
Flange dimension table (flange as per GB9113.1-2000 PN2.5MPa) 1398 510 510
DN ®D ok od b n-odi 1y fE &R
D65 185 ® 145 118 22 8-018 160M 6565 B55
50 ©165 ®125 99 20 4-018 s S et
40 150 ®110 84 18 4-018
©32 ©140 @100 76 18 4-018 200L 775 805
<< RER-TE Installation dimensions table >>
Pumptype [pns|DNd| a | h [h | ¢ | ¢ | i [(ROEBS T w | 11| B |B1|L2|L3|L4]| n-MdxL
90S/L 1000| 390 | 350 | 660 | 0 | 170
100L~132M | 125 |1120| 390 | 350 | 740 | O | 190 | 4-M12x 250
CZ50-32-250 | 50 | 32 | 100|180 | 225 500 | 4 | 90
160MIL 1250| 390 | 350 840 | O | 205
200L 170 [1400| 440 | 400 | 940 | 0 | 230 | 4-M16x 400
90S/L-112M 900 | 390 [ 350 600 | O | 150
. 125
CZ65-40-160 | 65 | 40 | 80 | 132|160 |385| 3 | 75 1325M 1000| 390 | 350 | 660 | O | 170 | 4-M12x250
160M/L | 153 [1120| 390 [ 350 | 740 | O | 190
>

> 07 <<




International Standard Chemical Pump

CZEAEFHRERIR

cz

International Standard Chemical Pump

<< t4geh% Performance curve ~>>
e HE | 2900 | A O | 65 | HHA4E | 40 B | e Fd | 1450 | mA O | 65 | HO® | 40
Type | CL05-40-200 | 510 rimin | r/min | Inlet caliber | mm | Outlet caliber | mm €265-40-200 | g1eq r/min | r/min | Inlet caliber | mm | Outlet caliber | mm
H,[u-;J 70 T Him) 25
acesss
60 i T aas 5. 0
-..r ! ] 11 L
50 = 1] T f i TP
SB{TEL L . o] L P
u TS s O =
4 s = 0 e s =e= s
E11] i 5 H F
B Gia * " Gmin
4 i T Al E{.I
; 10 H HEE T
NPSH | PEr NPSH
{m) 0 {m) 0
1] 1a 20 30 40 50 ai 0 1 2345678 %1011121314151617181920
Q(m'/h) Q(m'/h)
R W 2000 mAnf | 65| Hmne |40 [19 | es.a0. Wl | 1450 | AL | 65 | O | 40
Type | CZ65-40-250 | 5. i simin | r/min | inet caliber | mm | Outletcatiber [mm | | Type | ©403-4 250| Specd rimin | r/min | Inlet caliber | mm | Outlet caliber | mm
Him) 120 | Him) 30 : l
o bR | :
100 = LaBEL AR Ly 2 i GA0S36 40 it
gy [EERD = / A T i (T H
so BEROILIEY f SR - et :
70 25 20 [0 rf H "
60 drt Lo 1f = T r'l i : T
Y H - 'S R O = ;
30 -
2 & {1] -1 ISP
ekl —HH I = 1
o Qmin 5 T | B |
8 268 " s |
] [ e
4 4 =
NPsSH 2 i NPSH 2 = &
(m 0 L (m} @
1o 20 11 IR 40 50 o0 1] 3 10 15 0 25 30
Qfm'h) Qim'h)
<< f{$gE£¥E Performance parameter table >
N, FTEREEEIE Pump's rated rotation speed n=2900r/min | FEEIE$E Pump's rated rotation speed n=1450r/min
%; Impeller Caml I-;HE'! HHLIhE Motor power KW ¥ i 3 I-;Iae?d Fa#LIhEE Motor power kW
type pacity| Read| i m 1,00 H:’ 1. bt 1.84 [Capacily PE 1.00 [ Lt 1.35 | CLE 1.84
mih | (m) Spe&‘wdﬂ'ﬂ n%'iape;cwagm m¥h | (m) a;-aalt:mmSpa&: weight
A 34 48 11 15 18.5 16 13 2.2 22 3
B a0 46 hi 16 18.5 15 1| 16 2.2 2.2
CZB5-40-200
c 26 36 7.6 11 15 14 8 1.1 1.5 2.2
D 22 30 55 7.5 11 12 * 11 14 15
A 36 85 22 30 45 20 21 5.5 5.6 e
B 34 80 22 30 ar 18 20 4 8.5 7.5
CZ65-40-250
s c 30 65 15 22 30 16 15 3 4 5.5
D 26 50 1B 15 18.5 13 13 22 3 4

>> 08 <<

<< $MEEZR-TE Overallinstallation dimension diagram ~>>
Heth
. |outler | o ¥ =
NG,
i =
5 &
WA : B
Inlet EI: -
__-.G ..!:.
i =]
v/ A
=
i BI
L4 B
< BILEK >
Total length of motor(mm)
L HLEE S K
11.6MPaik 1) b Seat Y YB
Additional drawings for 1.6MPa flange dimensions number |245Polel42kPole|2&Polel4ZPolel
908 360 360
90L 385 385
100L 425 430
112M 455 460
<< EZEZERTR(ZEEMITGBI113.1-2000 PN2.5MPa) >> 1= alg &t
Flange dimension table (flange as per GB9113.1-2000 PN2.5MPa) 152y =5y Bl
160M 655 655
5 160L 695 695
oD ok od b n-odi ppcss 56 e
65 ©185 145 ®118 22 8-018 200L 775 805
2258 820 845
©40 150 ®110 84 18 4-018 oosM | 815 | 845 | 840 | 870
<< REFER-TFE Installation dimensions table >>
RS MRt Overall dimenslons of pump JERER <t Base dimensions
Pumptype |pns|DNd| a | h [ nt |t [ e [ i [, BU0LES Tyl B |B1|L2|L3] 4] nMdxL
] 90S/L~112M 900 | 390 | 350 | 600 | 0 | 150
CZ65-40-200 | 65 | 40 |100| 160|180 |385| 3 | 75 | 1328/M | 125 (1000|390 | 350 | 660 | O | 170 | 4-M12x250
160M/L 1120/ 390 | 350 | 740 | 0 | 190
90S/L 1000 390 | 400 | 660 | 0 | 170
90 | 100L-132M | 125 [1120| 390 | 350 | 740 | 0 | 190 | 4-M12x 250
CZ65-40-250 | 65 | 40 | 100|180 | 225 | 500 | 5 160M/L 1250| 390 | 350 | 840 | 0 | 205
100 180M 140 1400/ 390 | 350 | 940 | 0 |230|
4-M16 x 400
90 | 200L-225M | 170 |1400| 440 | 400 | 940 | 0 | 230 :
>> 09 <<




International Standard Chemical Pump

CZEIIERHFRRIR

< WREERTE Overall installation dimension diagram

International Standard Chemical Pump

. CZRAEBHELIR

>

<<  ¥gEfL Performance curve >>
BE | e a0ans| FOE |2900( mADER |65 | Hlinfe |40 | | MY | op00 4055 FOE (14501 BADIER | 65 | FUIOE | 40
Type B Speed r/min | r/min | Inlet caliber | mm | Outlet caliber | mm Type Speed r/min | r/min | Inlet caliber [ mm | Outlet caliber | mm
Him) 170 . Him) 80 71y
160 EEIEEG: G405 I i
150 E : i bl e M N
Eh 'j}- :P i a0 ey ﬁ i = F "
130 ] I o v i 117 i =
120 [EREEC - - Ny me ] = s
no EEEEH e Rt L e =
100 "M] 1 \;' =1 - : |1
o0 1 H = |
&0 o= :
n = 10
i 1
2 - o LI
Qmin Cmin
4 S = LF 5] 4 I
- = s 5 - b I
2 = 2 FH
NPSH 1 1 I NPSH | =
{m) 0 (m) o
10 20 kL] 40 30 il o 5 10 15 20 25 30
Q{m'h} Qfm*h)
T el - 2000 | BACE | 80 | HHOE | 50 e | - HiE | 1450 | A OEE | 80 | HERQEE. | S50
Type | CZ80-50-160| 5peeq /min | r/min | Iniet catiber | mm | Outet catiber [mm | | Type C#B0-50-160 | speed imin | /min | nie caliber | mim | Outet caliber | men
H(m) 50 ) 12 HHHH -
4 1 b :
Soma fr 10k u i
40&] ] _-Ij_- r--‘ o : <|."": ] o :
BBt 5 7 L = =
0 EREs e ek B 7 i
R e o (R -
2 is & L 5
=1 = 4 |
1 3
10 3
: e
A Cimin Cmin
8 e 4 4
6 H 3 119
4 EEEJEmm 2
NPSH 2 = —— = NPSH | - —
(my o m)
10 0 30 40 a0 [21] T B0 0 10 20 30 40 50 Gl
- Q(m’h) Qfm'h)
<< taESBE Performance parameter table >>
RISt SRENTEE# Pump's rated rotation spead n=2000r/min | REEHE# Pump's rated rotation speed n=1450r/min
%; Impeller | i | ##E BHLThE Mo rkw b3 Hﬁgﬁ H#1Th 3 Motor power kW
e [Capacity Head 5 4 oo [t 1.84 |Capacity L@ 1.00 | PoE 1.35 | LB 1.84
i mh | (m) &e&:m@'ﬁ i Qat,cmig'lt m¥h | (m) Spet!c m@t&n&:w
46 | 138 45 55 75 22 | a2 11 11 15
44 130 45 56 ] 22 30 7.5 1 11
CZ65-40-315 -
) G 40 100 30 ar 55 20 23 5.5 7.5 15|
. 34 | 80 30 30 37 18 | 20 4 e 55
A 55 3z 15 16 185 30 7 2.2 2.2 3
B 50 28 11 15 18.5 26 B 1.5 2.2 2.2
CZ80-50-160
C 46 25 i 1 15 24 6 1.1 1.8 2.2
D 40 18 ‘8.5 1.5 1" 20 4.5 1.4 11 1.5

>> 10 <<

=
=
= i
B
B
<< BHEK >
Total length of motor(mm)
n-@dl HLEs K
Fi . 6MPaid M R i A 1 Seat b YB
Additional drawings for 1. 6MPa flange dimensions number gﬁpmehﬂpnlglzﬂpomﬁpuhq
s 905 360 360
90L 385 385
100L 425 430
112M 455 460
' 3 132S 510 510
<< FER-TR(ZEXMITGBI113.1-2000 PN2.5MPa) >> 355N 560 550
Flange dimension table (flange as per GB9113.1-2000 PN2.5MPa) 160M 655 655
160L 695 695
DN @D Dk @d b n-od1 180M 730 730
80 200 160 ©132 24 8-@18 200L 775 805
65 ©185 145 ®118 22 8-018 2255 820 845
®50 165 125 99 20 4-018 225M | 815 | 845 | B40 | 870
40 150 ®110 84 18 4-018 250M 930 935
< I R-TE Installation dimensions table >>
FRe FIMEBR T Overall dimensions of pump [ FE R~ Base dimensions
Pumptype [pns|oNd| a | h | mi |t | o | i [, BEMES Ty | g B | BY|L2| 13| 4| nMdxL
112M~132M 1120/ 390 | 350 [ 740 | 0 | 190
90 125 4-M12 250
160M/L 1250| 390 | 350 | 840 | 0 | 205
100 180M 1400| 390 | 350 | 940 | 0 | 230
CZ65-40-315 | 65 | 40 | 125|200 | 250 | 500 | & 140
" 200L 1400| 440 | 400 | 940 | 0 | 230 | 4-M16x 400
90 225M 170 [1400| 530 | 490 | 940 | 0 | 230 | .
250M 190 |1600| 600 | 550 | 1060| 530 | 270 | 6-M16 x 400
90S/L~112M 900 | 390 | 350 (600 | O | 150
CZ80-50-160 | 80 | 50 | 100| 160|180 |385| 4 | 75 132SM | 125 |1000| 390 | 350 [ 660 | O | 170 | 4-M12x 250
160M/L 1120|390 (350 [ 740 | O | 190
>> 11 <L

mr———




International Standard Chemical Pump

CZEIIEGHERIR

<< t4hEphek Performance curve ~>>
e S 2900 | g ACR | 80 | HiHOs | 50 % | czao.50. Sl | 1450 | MEA O | B0 | HEHOE | 50
Type | CZ80-50-200| g i cimin | r/min | Inlet caliber | mm | Outlet caliber [ mm Type |C480-50-200) geed rimin | r/min | inlet caliber | mm | Qutlet caliber | mm
H{). 0 w17 HHH I
B e = uriume. ]
6l I.l J!l i - 15 b ] 1]
I -}L 14 J"— | i I
f 1 k 7 13 R
50 g = 3 (L& T —
1 i
T |"|.: i E
[ 5 2 g - — -
30 +
b =
20 s LHIL I
Chenine min
4 ' e Aot i ] 5 o
3 3 -
2 ‘H
NPSH | = r-:1'H]H ' 5 = -
1)
e By I 0 40 0 80 100 120 % 1 20 30 40 50 0
' Qfm'/) Qfm’/h)
BE FEE | 2900 | A4 | B0 | HREHO4R | S0 B | - B (1450 | mACEE | 80 | HEtHOE | 50
Type CZ50-50-250 Speed r/min | r/min | Inlet caliber | mm | Qutlet caliber | mm Type CZ80-50-250 Speed r/min | r/min | Inlet caliber | mm | Outlet caliber | mm
HWim) 25 @A 1354
Him) :i:: -I-]I T (m) 25 [.-Ir?! TH—?{:! Az ]
100 L 51511 197 g o Sram A
0 jm =1 -5 A =
80 g iA Fs 15 [PEA
0 ; 1t
™ f I —— i
&0 05 L0 I
) St = 10
40 - I
an
0 5
10 - it
0 _Qmjn] g S i
8 18 T
2 —'—rh"r I.ﬂ_ Emm—— ——
NPSH 2 et NIPSH
(m} 0 (mh 0
20 40 60 80 100 120 0 i 0 30 40 50 60
Qfm'/h) Qfm'/k)
<< t4gE&£¥E Performance parameter table >
PR, FEREHE Pump's rated rotation speed n=2000r/min | FREIEEE Pump's rated rotation speed n=1450r/min
RS | imoeler | %R | BE E LT M B | am LRI R Vo core i
type |(Capacity Head gy 00 [ [} 1.84 |Capacity [kE 1.00 | EeE1.35 | LEE 1.84
m¥h | (m) &Jecg:waun _ weight| m%h | (m) Spegn Spagcwi&n&wem
A 65 54 18.5 22 36 13 4 5.5 7.5
B 65 50 15 18.5 34 12 5! 4 b6
CZ80-50-200
c 50 42 11 16 18.5 30 9 2.2 3
D 40 33 75 1 16 24 8 1.5 22 3
A 65 a2z 30 a7 55 34 20 7.5 7.5 11
B B0 80 30 ar 55 30 19 5.5 7.5 11
CZB0-50-250
Cc 55 65 22 30 45 286 16 4 5.5 7.5
D 45 56 15 22 30 24 12 3 4 55

>> 12 <<

<«

Hi 4
Outlet f

e A

International Standard Chemical Pump

. CZEIEGERLR

R ERTE Overall installation dimension diagram

>

B
<< HHEk >>
Total length of motor(mm)
n-®d1 e K
151, 6MPai % K<) e 1 Seat Y YB
Additional drawings for 1.6MPa flange dimensions number 245 Polel4 4 Pole24iPolel44kPole|
908 360 360
90L 386 385
100L 425 430
112M 455 460
: 1325 510 510
<< 2 RE(E2#1TGB9113.1-2000 PN2.5MPa) >> e =
Flange dimension table (flange as per GB9113.1-2000 PN2.5MPa) 160L 695 695
180M 730 730
DN oD Ok od b n-od1 200L 775 805
100 ©235 190 156 24 8- 22 '2?22’553 3153]"0345 maTssro
80 200 ®160 ©132 24 8-018 et o g
65 185 ®145 0118 22 8-018 2805 1000 1010
50 ©165 ©125 ©99 20 4-018 280M 1050 1060
<< RER-TFE Installation dimensions table >>
waE MR < Overall dimensions of pump [EEER T Base dimensions
Pumptype | pns[DNd| a [ n [ | 1 | e [ i [y RMBEER T W | 1| B | B1| L2 |13 | 14| n-MdxL
1325/M 1120| 390 | 350 | 740 | 0 | 190
90 125 4-M12 x 250
160M/L 1250| 390 | 350 | 840 | 0 | 205
100 180M 140 |1400| 390 | 350 | 940 | 0 | 230
CZz80-50-315 | 80 | 50 | 125 | 225|280 (500| & 200L 170 11400[ 440 | 400 | 940 | 0 | 230 | 4-M16x400
& 225M 1400/ 530 | 490 | 940 | 0 | 230
250M 190 |1600| 600 | 550 | 1060| 530 | 270
6-M16 x 400
280S/M | 230 |1600| 650 | 600 | 1060| 530 | 270
90S/L 1000| 390 [ 350 | 860 | 0 | 170
90 | 100L-132M | 125 [1120| 390 [ 350 | 740 | 0 | 190 | 4-M
€2100-65-160| 100 | 65 | 100 | 160 | 200 | 500 | 5 - 2018
160M/L 1250| 390 | 350 | 840 | 0 | 205
100 180M 160 [1400| 390 [ 350 | 940 | 0 | 230 | 4-M16x400
>> 16 <K<




International Standard Chemical Pump

......................................................................

International Standard Chemical Pump

CZEFIEGHELLIR

.......................................................................

<< tgEhZ Performance curve ~>> << $MEEERTE Overall installation dimension diagram - >>
| 2900 M4 | 100 ag | 65 R 5 S0 | 1450 | WA D4R | 100 HiO§E | 65
%ﬁ CZ100-65-200 Spfmmm r/min ;ﬁc{\mliﬁ.—r mm Oﬁflﬁmlfn mim Type | C100-65-200 | goced vimin | /min | Inlet caliber | mm | Outlet caliber | mm
i ; T EE o) 16 R P PR
= Y O 15 T o
1] a;w .l‘ 7 T d!.— i’;l‘--. - i :; IIJ l'l ] 1] I :E E
= limme = i 12 it i = EE H ™
50 -~ 1 'f i .IJ J-" lr"-t " 1 l_L 1 ) u
i ! 10 HHH Itl AT ] H
Ty I|j ] : s o fIh] i - - — ki 3 o s
Pt T i [ 2 EEE - R = ==
i = y b :
30 F HEEn = y i
- if u AR ; P iy e
20 Qmin : i Lo ] ' ' L
4 I Tt a bl 3 alis T il A ; 1
: e 2 EEEEEFFHHHER R s : — | nMdxL 8L
NPsH 1 & : NPSH | |. ']- '-] BEEEEERSEARENNERTCS "'Ir , 14 L2 - B
m 0020 % % 50 S0 70 8 90 100 110 120.130 0 180 T .. .. ™ @ T W L1 i)
Qfm' iy Q(m'h)
®D << BBk >
LR 2900 s 100 HEth 4% | 65 A S5 | 1450 | WA C14R [ 100 HE AR | 65
%’pﬂ CZ100-65-250 Spﬁl%d%min rimin llﬁt;tkc[alli:?r min lfu?tiﬂllcnljber mm T‘}']J'; CEINE-0 S]"”‘j"f’“i-” r/min | Inlet caliber | mm | Outlet caliber | mm Total Iength of mﬂtﬂr(mm]
e = , n-®dl K
Hm) 120 [ I : .'-:',_ . [_” I’T Him) 25 B ] H, m:r. _-l SEEEEEEN __EEEH Fi1.6MPai: 4 R <t ah e 1 #}SE;? Y YB
i:;, ey ol mEmESSSSETAmEmE 0 , =rung PR Additional drawings for 1.6MPa flange dimensions number |24 Pole|44gPolel2&kPolel4 R Pole|
oo PO = i P M 0 AT Eamm 1H 90S 360 360
s 52 i *# e 15 R & 8 90L 385 385
0 H - = =]
60 IO e = i EF i - 100L 425 430
p HEFEEE SZzes o s HI 112M 455 460
- - ' = = 1328 510 510
» 5 i H <<  HEERTR(EZHITGBI13.1-2000 PN2,5MPa)  >> R 5
P =ssss: HEEEEEEE ! HHHH Flange dimension table (flange as per GB9113.1-2000 PN2.5MPa) 160M 655 655
[ 0 i} | I I :
Gumin Qmin 160L 695 695
2 L I | 1 I L] . 1 0 TIT
: : 0 0 BEciine DN ®D ok od b n-®di 1500 e i
4 H = 10 EEEFCmEEEE=C 200L 775 805
NESH 2 = ", 1 ! NPSH ==c2 , ©100 ©235 ® 180 © 166 24 8-022 2255 820 B45
(M) 0 =0 30 30 40 50 60 70 80 50 100 110 120 130 140 150 ) o w20 3.01 4 S0 6 70 80 225M | 815 | 845 | 840 | 870
Q{m'h) ; Q') ©65 ©185 ® 145 ®118 22 8-018 P 930 ey
<< 4R ¥* Performance parameter table > : << RER-TF Installation dimensions table >>
R ‘TEIERE Pump's rated rotation speed n=2900r/min | FREERE Pump's rated rotation speed n=1450r/min T Z MR Overall dimensions of pump JEHEER <+ Base dimensions
ns impelier | it | 5 E L% Motor power kW wE | W RaHLIhaE Motor power kW Pumptype [pns |DNd] a | h | bt | ¢ | ¢ | 1 [, BHRRLES | 4| g | B1|L2|L3|L4| n-MdxL
Type : c ity| Head ! ] Motor seat number
type [CapacityHeadp-m 100 [ [LI 1. fETE 1.84 |Capac PEE 1.00 | LbE 1.35 | EbE 1.84 .
mih | (m) a.gl:wam weightf m%h | (m) Spegcwiﬁsgc Specgzvmg'lql 90S/L 1000| 390 | 350 | 660 | 0 | 170
A 100 | 52 30 37 45 50 | 13 5.5 75 11 90 | 100L-132M | 125 |1120| 390 | 350 | 740 | 0 | 190 | 4-M12x 250
(1 =T i B % P | [ K] o 75 CZ100-65-200| 100 | 65 | 100|180 | 225 | 500 | & . 1160MIL L :iﬁ ix f; ﬁ 0 | 205
CZ100-65-200 80M 0 | 230
! 4-M16 x 400
c 90 | 39 18.5 30 37 42 | 10 . 4 9.9 90 200L 170 [1400| 440 | 400 | 940 | 0 | 230 7
D 70 30 15 188 ™ 30 36 8 22 3 4 ' 112M~132M 1120| 390 | 350 | 740 | © | 190
125 4-M12 % 250
A 115 | 82 55 75 54 | 21 11 11 15 160M/L 1250| 390 | 350 | 840 | O | 205
180M 1 390 | 350 0 | 230
B 116 | 75 45 55 75 50 | 19 7.5 1 15 CZ100-65-250| 100 | 65 | 125|200 | 250 | 600 | & | 105 140 s i
CZ100-65-250 & e - 200L 1400| 440 | 400 | 940 | 0 | 230 | 4-M16x 400
c 100 | &4 # 88 b AV M ; ; 225M | 170 |1400| 530 | 490 | 940 | 0 | 230
D 80 | 50 30 87 45 40 | 12 4 5.5 7.5 250M 230 |1600| 600 | 550 |1060| 530 | 270 | 6-M16x 400

>> 16 << <. : >> 17 <<




International Standard Chemical Pump

CZRFIAFH LT R

International Standard Chemical Pump

<< g% Performance curve ~>>
S| pip0gs31s | FE 12900 LI | 100) HHiCIER )| 65 B9 [ crro0es31s | FE [ 1450| mA DI |100] HehOige | 65
Type Speed r/min | r/min | Inlet caliber | mm | Outlet caliber | mm Type Speed r/min | r/min | Inlet caliber | mm | Outlet caliber [ mm
H{m) 160 Him) 40 grory : |
150 L . li ]i‘?—-—- L g 181 :" 1 -II::—'—-—-..‘L 3_ '—-;#i I =
140 i Lt :‘_' E:% fi _i__:___ mEs ¥ o
i TTTH] 30 grasy i 7 z P
130 i = = o - 1 e ] Cl
120 e 3 s iE S S AREbZENERZ AR
1o M 20 14 s 1 H SEEPL N
100 [ SR04 I =l i ARARENRTAPE
[T 7 &
! o T 5 10
a0 - et
70 Fr- H
&l Omin i Gl L]
P T ] Eh] 18 FEEH [ TR G HaRE
4 e 10 _ =5 FpR
NPSH Semanuii wpsi 05[] |
my 0 % . kb (m) ¢ UL L 1 INNERER
0 0 10 150 200 ] 10 20 n el 50 1] 0 80
Q(m'h) Qn'h)
iR B | 2900 | WA | 125 g | 80 e | 1450 [ WEAIAR | 125 | Hith 4R | 80
Type | CE12380-160 | speed rimin | r/min Mmcaiif::r mm | Outlet caliber | mm Type | C12580160 | peed cimin | rimin | nle catiber | mm | Outlet caliber | mm
Him) 40 1|f . I I .:_4 ) [._-{» T i :T :L- : I . I[ 't
m il SSeEEm i 10 !
10 - ; I a 5] 5 ¢ 5 FARRE-ALAsTi] i LLFS
[ . & i T —1 |
i ‘I} LEANA |1 Yy | 7 13 i I i‘ — 1'—-_. I & |
20 =t == = 1 - I
A . @A ,
i ; CH a H
10 3
2
I : ; CisEnz=sss
Y Omin . Qmin ;
s H ] 4 i I
. 2 T 3 (7% WL T W] L i
4 = 5 - =
nesH 2 M NPSH 1 = = +H
i 50 100 150 200 250 300 ™ 050 20 30 4 30 0 7 80 % 100 11?_520
Q‘:mlllh} Qim ]
<< (eS8 ¥FE Performance parameter table >>
R FEIEYs# Pump's rated rotation speed n=2900r/min | FEAEiE Pump's rated rotation speed n=1450r/min
%I?B impeller | i | % FE4LIhEE Motor power kW wm | BE HLHLIh# Motor power kW
type |Capacity Head —trag5 00 [ i 1. [t 1.84 |Capacity Head "{rag 4 00 | L 1.35 | PoE 1.84
m¥h | (m) S;n:;:wam Sp&m%m Spec%mm m¥h | (m) MMMW%W
A 135 130 90 110 160 64 A 15 18.5 30
B 130 125 90 110 160 61 30 15 185 22
21005652905 C 115 115 T 110 132 56 28 11 g il 18.5
D 110 102 75 a0 110 54 23 11 11 15
E 90 85 55 Ty 90 52 20 7.6 11 15
F 75 70 a7 45 75 50 16 55 75 11
A 170 29 30 37 55 75 .5 4 55 Tl
CZ125-80-160 B 160 26 22 30 45 70 i a 4 55
i G 150 | 21 18,5 22 30 | 70 | 5 2.2 3 4
D 130 16 15 18.5 22 65 4 2.2 22 3

2> 18 <<

<< 5MEER-THE Overall installation dimension diagram - >>
HEth
a |Outlet ¢ K
=
=
S | L
Bl
B
<< HiEK >>
Total length of motor(mm)
oS K
T BMPaik ") A Seat i | YB
Additional drawings for 1.6MPa flange dimensions number zﬁpo]*ﬂpo 24 Pole/d i Pole|
90S 360 360
90L 385 385
100L 425 430
112M 455 460
1328 510 510
& 0P G 1532M 550 550
<< EE2RTR(GEZ#HITGBI113.1-2000 PN2.5MPa) >> 1500 = =
Flange dimension table (flange as per GB9113.1-2000 PN2.5MPa) 180M 730 730
. 200L 775 805
2255 820 845
DN ®D Dk od b n-odi SooM 815 | 595 | 840 [ 670
©125 ©270 ©220 184 26 8- 026 250M 930 935
©100 ©235 ©190 D156 24 B-122 zﬂga }g% }gég
80 ®200 ®160 ©132 24 8-018 ST | 1200 T30 | 5
DES D185 D145 @118 22 8-118 315M | 1280 | 1200 | 1390 | 1340
<< R¥EFER-I%* Installation dimensions table >>
RS IRAMED R~ Overall dimensions of pump JEEE R~ Base dimensions
Pumptype |pNs[pNd| a [ h [mi | ¢ | o | i [ BRMES | b | L1 B |B1|L2|L3|L4] nMdxL
132S/M | 125 [1250| 440 | 400 | 840 | 0 | 205 | 4-M12x 250
160M-180M | 140 [1400| 440 | 400 |940| 0 [230| , . .
e 200L 170 |1400| 440 [ 400 | 040 | 0 | 230
CZ100-65-315| 100 | 65 | 125|225 280|530 | 5 225M 1600 530 | 490 |1060| 530 | 270
250M 190 | 1600| 600 | 650 [1060| 530 [270 | . .\ o
280S/M | 230 | 1600/ 650 | 600 [1060| 530 | 270
195| 315SM | 250 |1800| 720 | 670 [1200| 600 | 300
90S/L 1000| 390 | 350 [ 660 | O | 170
90 | 100L-132M | 125 [1120] 390 [ 350 [ 740 | 0 | 190 | 4-M12x250
CZ100-80-160| 125 | 80 | 125|180 [ 225|500 | 5 160MIL 1250| 390 | 350 | 840 | 0 | 205
100 1 :
80M 140 |1400| 390 [350 [940 | O [230| ..
90 200L 170 |1400| 440 [ 400 | 940 | 0 | 230
>> 19 <<




International Standard Chemical Pump International Standard Chemical Pump

<< tfEfhZ Performance curve = >> << 5pE%RERTE Overall installation dimension diagram - >>
1e ek | 2900 | mEA MR 125 HhinogE | 80 1 Ol | 1450 | WA 1 (125 HeH O | 80 '
Type | CZ123-80200 | spceq rimin | r/min tar | | ot [mm | | Type | 12580290 | e vimin | it catibee | mm | Ot caiber | mm Outes £ K
a [ ]
H(m) 60 3030 61 66y . Him) 16 ] D
J E 1 Y ] 1 . 15 Lt N =
Eymmr = P 1" 7 = it T — _
0 IR 1 S S mmEn ' %
40 T | T ‘ 'r ' FJJ - - P
e 0 e e EA 0 58
0 HH Gamans P T nlet _ 2| |
0 0 RS Sia i a >
=ze .
20 h
i : : r |
10 Cmin . Qmin E_
# | I I I I ~ 4 T .
6 2 Bl
4 R = N - —— ot ==
NPSH 2 - S=& NPSH | s
(m} o I | (my o L
0 100 150 200 (1] 10 20 30 40 50 60 70 B0 90 100 110 120 -
mmilrn Q[mjﬂﬂ
®D << HiEK >>
#U 45 e | 2000 | mA AR | 125 HeiOfe | 80 e | . $eE | 1450 | A O | 125] HEHO4E | 80
Typg CEIE Speed t/min | r/min | Inlet caliber | mm | Outlet caliber | MM Type .{ Z125-80-250 Speed rimin | r/min | Inlet caliber | mm | Outlet caliber | mm = Total Iength of mOtor[mml
Hom) 25 @d n-0dl NS K
Him) 120 T " HA FEEEm - Y 2 1.6MPaik 2 KU, W) Aha I Seat Y | YB
= - 2 o i Ir BEw| = Additional drawings for 1.6MPa flange dimensions number 245 Pole|4 4 Pole[248 Poleld 4R
0 &2 P | gy wr S TR o , 908 360 360
g (S EEy = SEEs u i i 1 90L 385 385
0 2 N T = RBeeeacaines s ' 1 : 100L 425 430
o eihd RS S=ES) ' ; as '- i12M | 455 460
50 - = == l
i S SEamcoas: = 5 1325 510 510
) oE] a3 << E2RE(E=HITGBI113.1-2000 PN2.5MPa) -~ >> s
10 B S TTT] ! Flange dimension table (flange as per GB9113.1-2000 PN2.5MPa) 160L 695 695
e i m | | i I I
s & e - 180M 730 730
LT prAE 5 ] 200L 775 805
6 [T = 3 09
; BaRZsE= : - ,@“ DN @D ok ®d b n-odi 2255 820 845
= =t ] 225M | 815 | 845 | 840 | 870
NPSH % i i -
e | HEFFHHHEEEEFH R s ! ! i 125 ®270 220 ©184 26 8-026 2o o Db
P 0 10 20 30 40 50 60 0 R0 90 100 110 120 130 g[um!;g 80 ©200 160 132 24 a-®18 m :ggg Igg
<< MieSHE Performance parameter table >> << RERTE Installation dimensions table ~>>
e FEEHE Pump's rated rotation speed n=2000r/min | FREEHE Pump's rated rotation speed n=1450r/min e ‘AR R Overall dimensions of pump JEEER <t Base dimensions
ne impeller | iR | #1 F#LI & Motor power kW W@ | @  HHLIIE Motor power kW Pumptype [pns|DNd| a | h [ hi| ¢ [ ¢ | i [, RHBES | 4| 11| B [B1|L2|13|L4| nMdxL
T wpe  |Capacity|Head [ G100 | i 1. {7l 184 |Capacity Head| [ 100 | Lt 1.35 | PeE 1.84 seal umber
m3h | (m) Spe-!cmw \\%ﬂlﬂpﬂ!ﬁm@t ‘méh | (m) Sps&: W&EJCW 90S/L 1000|390 | 350 | 660 | 0 | 170
P 183 Prui p: 85 - s I & 75 1 15 90 | 100L-132M | 125 [1120{ 390 | 350 | 740 | 0 | 190 | 4-M12x250
. 7125-80~ 125 125 | 180
- 57 po e = TS = T e ©Z125-80-200 80 5 250 | 500 | 5 160M/L 1250| 390 | 350 | 840 | 0 | 205
CZ125-B0—-200 100 180M 140 |1400( 390 | 350 | 940 | O | 230 A Al
c 130 | 38 # 87 45 85 i} SllblthB e L 90 | 200L-225M | 170 [1400| 440 | 400 [ 940 0 | 230
D 110 | 28 18.5 30 a7 80- |- a 4 5.5 1325/M 1120| 440 | 400 | 7 190
125 '3 0).8 4-M12 x 250
A 190 | 80 75 95 | 20 11 15 18.5 160M/L 1250| 440 | 400 | 840 | 0 | 205
B 180 | 75| 86 75 0 [19] 1 15 18.5 THOM R e | 400 | SA e
CZ125-80-250| 125 125 500 200L j =
czi25-80-250| C 170 | 70 55 75 g5 | 17 11 11 15 b b i o TRTNERE AR | 400 | DS O | B0 ) 410400
225M 1400| 530 | 490 [ 940 | 0 | 230
5 180 BTl [ s i i B R L b 250M | 190 |1600| 600 | 550 [1060| 630 | 270
E 130 | 47 30 45 55 70 11 5.5 75 11 280S/M 230 |1600| 650 | 600 | 1060 530 | 270 6-M16 x 400
>> 21 <<=

>> 20 <<




Internatmnal Standard Chemlcal Pump

International Standard Chemical Pump

CZRABBERL IR =

<< HREMZ Performance curve >> << SpMEERFER-THE Overall installation dimension diagram ~ >>
ity 3 i | 2900 | BACE | 125 Hbnds | 80 R i [1450 | mans [125] Htioge | s0
Type | CE123-80313 | spced imin | r/min | intet caliber | mm | Outlet caliber | mm Type | 212580315 | peeq vmin | /min ;ﬁ:mlib}cr mm Eﬁlﬂjnﬂfa mm gﬁﬁlﬂ
Him) 200 Him) 40 ] ’ = f 2
g.?' FEEr T P : 2
150 B2 503 a0igk BEEEE LN 10 I FI J! I|J J_h =mnE =
i J|’J I' -'I;{‘_J f‘f :_...- < L] T o : ,rl "‘T—u _‘_"‘-\- : ] 3 _.\
100 ppiso-HHHE T e 2 CruNEENEN Jet
e - mxe = = ch /*c;
= = =
50 10
o 1
. Qmin o Qe g 5 L
[] el L] - k] 1 I 71 |
4 T : i T Bl
NPSH 2 I EnN NpsH ! e T B
{m) 0 - m o 1 I
0 S0 o0 150 200 230 300 0O 10 20 30 40 50 &0 70 80 90 100 110 120 130 140 150
Qlem'm) Qm'h) 4
("'\- Eﬂltﬂ* }>
B | 12580400 | FOE | 1450 | BA DI | 125) HEH O | 80 Total length of motor(mm)
Type Speed r/min | r/min | Inlet caliber | mm | Outlet caliber | mm K
Him) 70 , . " HES :
: . 5 %1.6MPaiE 22 R+, B b B Seat Y | YB
L S i Additional drawings for 1.6MPa flange dimensions number [225Polel44Polel2 Polel4 4k
. e ' i 1328 510 510
ol e . » B 132M 550 550
s Eaamin el = g A B 160M 655 655
40 3 ! 5 g TS ﬁ R ‘ . P 160L 695 695
: > B A ) :
| = 4 SEREV ] e 180M 730 730
30 :' ] 5 - “{ﬁw s { EER?%{EE‘HL?‘IGBQ113.1—ZUOU PNZ.5MP8) > > 200L 775 805
' : g Sas Flange dimension table (flange as per GB9113.1-2000 PN2.5MPa) 2255 820 845
AT : . 225M | 815 | 845 | 8B40 | 870
" I =
's S mmmmn DN ®D ok od b n-od1 250M 930 935
10 —sEncms 2808 1000 1010
"t",f}" i 1 @125 ©270 ®220 ®184 26 B-026 280M 1050 1060
1
3158 | 1260 | 1200 | 1260 | 1200
0O 1D 20 30 40 30 &0 70 B0 90 100 110 120 130 140 150
_ Q') ®80 200 ®160 ®132 24 8-018 16 | 4680 | 1200 | 1360 | 1840
<< tEE&¥E Performance parameter table >> << Sz R~ Installation dimensions table >>
! P FENESE Pump's rated rotation speed n=2900r/min | FREIEE Pump's rated rotation speed n=1450r/min =me Z4MERR <t Overall dimensions of pump [ R~ Base dimensions
sl impeller CHIW i RHLLA 3 Motor power kW R | #E HI1LI 3 Motor power kW Pumptype | DNs|ONd| a | h | m | f | ¢ | i | BRBES Ty [ 11| B |B1| 12|13 | 4| nMdxL
apac el 7 ; ; Cﬁpac[ty ; ;
oo [SROR | (m) |l liO0 |5 I LBE L o | (m) |Gl WS s wapht e wah 1325M | 125 |1250| 440 | 400 | 840 | O | 205 | 4-M12x250
A 200 | 130 110 160 100 | 32 18.5 30 a7 160M~180M | 140 |1400| 440 | 400 | 940 | O | 230 |
4-M16 x 400
Cz125-80-315 [HIEE 180 iy deS indilf L % |80 185 30 87 200L 170 | 1400| 440 | 400 | 940 | 0 | 230
2 : 105
. £ paie L s s 88 e 8 153 i CZ125-80-315| 125 | 80 | 125|250 | 315|530 | 5 225M 170 |1600| 530 | 490 |1060| 530 | 270
D
150 | 75 55 75 90 70 | 20 11 11 15 E5l | 7 R B e
A 105 | &1 30 37 55 : 6-M16 x 400
280S/M | 230 |1600| 650 | 60O | 1060| 530 | 270
B 100 | 50 30 37 55 -
CZ125-80-400 c a0 44 a0 a7 45 185 3155M 230 | 1800| 720 | 670 |1200( 600 | 300
1325-200L | 140 |1400| 530 | 490 | 940 | O | 230 | 4-M16x400
= e A ¥ i s CZ125-80-400| 125 | 80 | 125|280 355|530 | 5 | 105
B 75 30 18.5 22 30 2255/M 170 |1600| 530 | 490 [1060| 530 | 270 | 6-M16 x 400

>> 22 << >> 23 <<




International Standard Chemical Pump

CZEIIEFH TR

% eEfhZk Performance curve

<« >>
bR BEE | 2900 | A OIS 125 H i pen 3
CZ125-100- . ] | 100 B |- | 1450 f 1
Type 200 Speed r/min | r/min | Inlet caliber | mm | Outlet caliber | mm 'I'yp:: C€2125-100-200 Speearfmm r/min ]%$££ étzns; Oﬂtlﬁcl.:nllﬁr ::ﬁ
Hiim) &0 SELL
g I L1
% Him) 15 2o, - —?rf 11
o0 P 78174 I T“ i i
50 s ANNuE S s ! i
10| [ RRANE bt A
40 n =y ™ yﬂﬂ T = AR ES y:
HLLT | M - 4 H ™ = il
£ i - [ 4 = 5 H : e =11 i
20 = e i 11 ENE
10
0 OQmin g Cmin
& 1| hb 3 1 ENEEEER
4 e =l 1 1 i3t
npsH 2 nesn ! - FEHHEH
{m) ¢ m g 1T
0 0 100 150 200 250 300 350 400 0 50 100 150 200
Hm'/h) Q')
HE il 2900 | Br A OfE | 125 i VRS ¥ i :
CZ125-100-250 : ; 12 Hedt a4 | 100 s R LSl 1450 | 1 143 | 125 1 §
Type Speed r/min | r'min | Inlet caliber | mm Outl::'tunlil::l mim 'l}'pc €2125-100-250 ‘-pun::l rfomin | r'min Iﬁc{\cali;—: mm U{Jf];l;ll.:l,al]‘ift?c; rl'rﬁg
Him) 100 T I T Him) 24 -
P i B ! I e ="
4 e il 55 | 1 i ¥l
80 S FT 20 5
70 Qe N wRRe :
0 EI - :__ L : 18 o " .,_q-]'ra\ y ’/(, ,’
0 HHHAEE ] FEETTeLD = 1R ey
! linz P =7 3 13 - mmr al
30 H . =i E =
0 | 11 5 F i R
10 H B ¥ . e
(I E| I ! : I |
2 (min I " L8 T I : : :
‘ BT | SEEES Z3ss
4 e 5 4 J
2 |t -'. : =
MPSH NPSH | [ B
{m) p (m) 0 - L
0 50 100 150 200 250 300 350 400 0 S0 100 150 200 150
Qim'h) Qfm’/h)
<< tHEE¥FEX Performance parameter table >>
b R FEEEREE Pump's rated rotation spead n=2900r/min | ZREBERE Pump's rated rotation speed n=1450r/min
il impeller | g:w rﬁz F#LINE Motor power kW il | HE FLHLINEE Motor power kW
type PEEE 1.00 | LENE 1. [L 1 1.84 |Capacity| Head 1.00
iy 2 SRMICT RECRINCS SO pcrdiimy M7 SECORACT SECRACT 3520
A 220 46 45 55 75 115 11 7.5 11 11
B 200 44 a7
doidsbading 55 75 100 10 55 7.5 1
C 180 34 30 37 55 a0 8 B.5 7.5 1
D 150 25 22 30 37 80 B 4 5.5 7.5
A 280 73 90 110 160 130 20 15 22 30
B 250 70 75 110
np— 132 130 18 15 18.5 30
v C 230 56 75 90 132 120 14 11 15 22
D 200 40 45 55 o 100 11 7.5 " 15

>> 24 <<

Internatmnal Standard Chemical Pump

----------------

................

<< 5pEER¥ERTHE Overall installation dimension diagram - >>
ikt
Quilet ¢ K
=
_\\1
N $ib
Inlet i
o |
¥, 1
. o
B
<"-- m.*ﬂ:gtﬁ ;">
Total length of motor(mm)
S K
Pl BMPaik 2 R, S A Seat Y YB
Additional drawings for 1.6MPa flange dimensions number 245 Polel4 4k Polel2@iPolel4 i Pole|
- 1328 510 510
| | 132M 550 550
160M 655 655
160L 695 695
¥ 180M 730 730
<< EERTR(ZEZHMITGBI113.1-2000 PN2.5MPa) ~ >> 2000 = i
Flange dimension table (flange as per GB9113.1-2000 PN2.5MPa) 2258 820 845
225M | 815 | 845 | 840 | 870
DN oD ok od b n-®d1 250M 930 935
280S 1000 1010
@125 ©270 ®220 o184 26 8-©26 280M 1050 1060
3158 | 1260 | 1200 | 1260 | 1200
Al ©235 @190 ®156 24 8-022 '] 1080 ] 1200 | 1300 | 1340
<< RIER-TFE Installation dimensions table >>
sae ZAHMERR <t Overall dimensions of pump fEER~ Base dimensions
Pumptype [pNs |DNA| a | h [ hi | ¢ | ¢ | i [yBPlEES | W | L | B |B1|L2]|L3)|L4]| nMdxL
1325/M 1120| 390 | 350 | 740 | 0 | 190
T6omiL | 125 [1250| 390 | 350 [ 840 | 0 | 205 | +M12%250
180M <4 |1400] 390 | 350 640 [ 0 | 230
cZ125-100-200| 125 | 100 | 125 | 200 | 280 | 500 | 5 | 105 200L 1400 440 | 400 | 940 | 0 | 230 | 4-M16x400
225M 170 [1400] 530 | 490 | 940 | 0 | 230
250M | 230 | 1600] 600 | 550 |1060] 530 | 270
580SM | 250 |1600] 650 | 600 | 1060] 530 | 270 © 16> 400
1325/M | 125 |1250| 440 | 400 | 840 | 0 | 205 | 4-M12x250
160ML__| ., [1400 440 [400 (940 | 0 [ 230
180M 0 4200| 440 | 400 | 940 | 0 | 230 | 4-M16x 400
200L 1400| 440 | 400 | 940 | 0 | 230
CZ125-100-250| 125 | 100 | 140 | 225 | 280 | 630 | 5 | 105 —— = 19 [l 50 a0 (1050l 550/ [ 570
250M 190 | 1600| 600 | 550 | 1060| 530 | 270 ;
2305 1230 [1600] 650 | 600 [1080] 530 | 270 | C-M16%400
3155/M | 250 |1800] 720 | 670 | 1200| 600 | 300
>> 25 <<




International Standard Chemical Pump
CZRAEGHELIR

<< taEfhik Performance curve ' >>

International Standard Chemical Pum

CZEAEGERETR

B

<< SMER#FERSTE Overall installation dimension diagram ~ >>

e BT 2900 ma e | 125] feknge [100]  [we g (1450 [ mande [125] o [100
Type | CZ125100-315) g1 e min | rfmin | Inlet caliber | mm | Outlet caliber | mm Type | 4123100313} gpeeq imin | rimin | Inlet caliber | mm 0“”3“3“';[5_9’ mm K
Hm) 150 5 5 SRR ] I Him) 40 @33 l ﬁ : 5 e W .
150 B +H S : T =a8 =
140 THITTS o g B ARG AN #\
1 30 |4 ==
i;ﬁ g (maray F TR L = " |'Jl : .':‘ % =SLE [= y i
[l = = i =
::,3 B340 = ras 20 |- P L
o0 e
. -
T (1]}
]
0 HHH : —/
" Qmin ® "~ Gnin ' _
e H 5 H i I -
i B b Wy B Bl
a H S - e T e ] B
nesu 2 PHEFFEEEERHREE wesi ! T ai
(m) g i) 50 10 150 200 250 ann 350 400 L Ly L] 20 llfl___ ;SEI #0 100 120 140 160 180 200
Q(m'/h) Qfm’h)
, << HHEk >
e ik 1450 ma o [125] Heko 100 9. Wik [ 1450 [ a0z [150] HEtog 125 Total length of motor(mm
Type |CZ125-100400) ¢ o5 timin | r/min | Inlet catiber | mm | Oulet caliber | mm CL1S0-125-250) et pimin | /anin lnlmcnliti;f mm Outltctcal;rlir mm f K | ]
D410 - ¥ HES
Him) 60 GOy T T - 591 BMPaik 2 R < S AMA T Seat Y I Ve
it i 7 1 RS Additional drawings for 1.6MPa flange dimensions number |24 Polel44 Polel4&iPole|
AT rI H ”f'" j rax A 1325 510 510
[ [ 2 = o i
el T v W h | - '; v 132M 550 550
Emmnmm anr | dEe 160M 655 655
0 " i 160L 695 695
- ' << FERTE(EX#HMITGBI113.1-2000 PN2.5MPa) >> 180M 730 730
20
= Flange dimension table (flange as per GB9113.1-2000 PN2.5MPa) 200L 775 805
10 Gonin ?  Gunin = 2058 820 845
- . : : DN ®D ok od b nxBdi 225M | 815 | 845 | 840 | 870
2 ——— I ®200 ®360 ®310 ©274 30 12-026 250M 930 935
— MNIFSH
N{:f}" 1; m 0 @150 @300 ®©250 @211 28 B-026 2805 1000 1010
] 50 106y 150 200 250 U] St 1040 150 200 250
Q') Q') ©125 ©270 ®220 184 26 8- 026 280M 1050 1060
<< MEEEEE Performance parameter table >> << RFER-TFE Installation dimensions table >>
BHpEISt FEEHE Pump's rated rotation spead n=20001/min | REEHHE Pump's rated rotation speed n=1450r/min =me FIMIT R~ Overall dimensions of pump JEEE R~ Base dimensions
ok impeler | HR " RHLINE Molor power kKW Gstl“y AR RIHLI% Motor power kW Pumptype [ D [ONa| a | h [ hi ] f | ¢ | | | BP0 T 1 [ 1] B | 81| 2] 03] 4] nMdxL
Capaci : f : apac 4 s : ;
g s m¥h | (m) sﬁ% s&&% spmmﬁt méh | (m) - %@tgz}nwgﬁg&m o SR N B T e R 160M-180M | 1400| 530 | 490 | 940 | 0 | 230 | 4-M16x 400
A 270 | 136 160 132 | ap 30 30 - a7 e - gl 200L~225M 1600| 530 | 490 | 1060| 530 | 270 | 6-M16 x 400
B 250 | 128 132 200 120 | 30 18.5 30 a7
i _ ~180M | 140 490 | 940 | 0 | 230 | 4-M16x 400
Geish B S 230 | 100 110 132 100 | 26 15 185 30 160018 15001 520 =
: 200L-225M | 170 [1600| 530 | 490 |1060| 5 0
B ke S L h e LRHE g L 155 CZ150-125-400| 150 | 125 | 140 | 315 | 400 | 530 | & | 125
A 150 | 50 45 55 75 250M 190 |1600| 600 | 550 [1060| 530 | 270 | 6-M16x 400
B 140 | 48 37 55 75
125-100-400 280S/M | 230 [1600| 650 | 600 [1060| 530 | 270
200 52 = 120 L %0 2 S > 1400 940 | 0 |230 | 4-M16x 400
D 100 | a2 22 30 a7 1325/M 650 | 600 x
' CZ200-150-250| 200 | 150 | 160 | 280 | 375 | 530 | 5 | 125 160
A 200 | 20 185 30 a7 160M~225M 1600| 650 | 600 [1060| 530 | 270 | 6-M16 x 400
CZ150-125-250 ——2 2001 R | G4 2 o 125 | 160M-225M 1800| 720 | 670 | 1200] 600 | 300
c 190 | 14 15 185 30 CZ200-150-315| 200 | 150 | 160 | 315 | 400 | 670 | 6 : 160 6-M16 x 400
- P T n 15 15 : 120 | 280SM 1800| 720 | 670 |1200| 600 | 300
>> 26 << >> 29 <<




International Standard Chemical Pump

CZEFIBEGHFENLIR

<<

International Standard Chemical Pump

CZF Efﬁﬁkﬁﬁ‘ HETR

e ER#ERTE Overall installation dimension diagram

> >

<<  taEh%® Performance curve >>
2 FeE | 1450 | WA O 200 HEHOfE | 150 e Pl | 1450 | A O | 200 HEd D4 (150
Type | CL200-150-400 | g simin | r/min | Inlet caliber | mm | Outlet catiber | mm | | Type |“Z200-150-900) gpeeq vimin | r/min | tniet caliber | mm | Outlet caliber | mm
Him) 60 by LA 1 Him) 120
f ] 7 = A % 110
i 11 ;f L —-f— £ .'{ = o ]:l? : — E?h = L] :
| F I T &0 - S=rmm . e
=== 7 T 9 iy el e mha 7
iy Il QEFR§U) I i =
1 o P ErAm =
0 : = L bl it L11] = - =
I 0
k1]
20 - 20
10
, 0 ik
8 ]
6 D40 [ - s
4 - F56 4 el
NPSH 2 ==== NPSH 2 SEmEE
{my g m) 0 -
0 100 200 300 400 300 100 200 300 400 00 600
Qim'/h) Qimr'h)
We B | 1450 | Mg AR 250 HeHOgE | 200 e Fe | 1450 [ WEA 43 250 fFdiQdE 200
Type C2250-200-250 Speed r/min | r/min | Inlet caliber | mm | Qutlet caliber | min TW: G Spee:I r/min | r/min | Inlet caliber | mm (Jutletcaliljer mm
Hlm) 20 3 T EEEENEN ' LdiE: AN
-egmEREaRE, I Hm 30 ok R L L
[ ESias:d TANEIIm2
] 4 ] Y s ﬂ,. 1 o
= - " o . S 5™ - ."x(..
- p‘--..‘ =8 b1} pRoD || i f";!' < B =
= 1 _ S Y
i IR NG
S ERRNNSSRRRARAR NS 10 =
5 [0 HE T EEEEE ] ]
0 Cimin o Limin
6 bk - & aiss o
4 11 :-—"'" i _z = el ofg
NPsH 2 e -
= 0 (m) o
1] 100 200 300 Lt S0y 600 00 B0 L] 00 1000
Qm*h) Qfm'h)
<< HBEE¥R Performance parameter table >>
e FEAESHE Pump's rated rotation speed n=2900gmin | R#EHE Pump's rated rotation speed n=1450r/min
%;?a Impeller | S I-iaag FLHLINEE Motor power kW wm |5 HLA1LIHE Motor power kW
type Ry EL#@ 1.00 | FEE 135 | b 1.84 |CapacityHead o5y 00 | (@ 1.35 | e 1.84
m¥h | (m) &Jﬂlwﬂ 943952'-'-'9‘91 @B&Wﬂ m¥%h | (m) SDOJGWSDW!G i SPG%WEU‘
g 400 48 110 132
504 340 42 75 a0 110
CZ200-1 00 [+ 300 34 55 75 a0
"D 260 28 45 55 75
A 420 80 160
B 400 74 132 160
CZEl]D—1f50—500 o] 360 65 110 160
D 340 52 Rk 110 132
E 300 48 75 90 110
A 600 12 30 37 55
CZ250-200-250 B 540 11 30 37 55
c 500 10 30 37 45
A 650 | 24 75 90 110
00-3 B 600 20 55 Fi-] 90
CZ250-2 15 [ 550 16 37 55 75
D 500 14 30 45
>> 30 <<

Heth
4 Qutlet f & K Lo
i
i .E
WA H | +—
n[ ld =
= |
i L3 ﬁl
L4 B
<<< Rk >>
Total length of motor(mm)
S K
WL OMPaL ) Y She Seat Y | YB
Additional drawings for 1.6MPa flange dimensions number EEPolﬂéﬂ.Fole]mPolﬂmPﬂla
160M 655 655
160L 695 695
180M 730 730
200L 775 805
<< FZERTRGEEZHITGBI113.1-2000 PN2.5MPa) >> 2255 820 845
Flange dimension table (flange as per GB9113.1-2000 PN2.5MPa) 225M | 815 | 845 | 840 | 870
250M 930 935
©250 D425 @370 330 32 12-030 280M 1050 1080
©200 ® 360 ®310 a4 30 12-026 3155 | 1260 | 1200 | 1260 | 1200
150 300 ®250 o211 28 B-026 315M | 1280 | 1200 | 1390 | 1340
<< RER-TE Installation dimensions table >>
=me F4MIBR T Overall dimensions of pump [EEER <t Base dimensions
Pumptype DNs|ONd| & | h [ Wi | 1 | ¢ | 1 [ BVMES Ty T B [e1|2|1s|a]| nmaxL
125 | 180M-250M 1800| 720 | 670 |1200| 600 | 300
CZ200-150-400 | 200 | 150 | 160 | 316 | 460 | 670 | 6 = 280S/M | 160 |1800| 720 | 670 |1200| 600 | 300 | 6-M16x 400
3158/M 2000/ 720 | 670 |1400| 700 | 300
. 125 | 180M-250M e 1800| 720 | 670 |1200| 600 | 300
€Z200-150-500 | 200 | 150 | 180 | 375 | 500 | 670 | 6 |120| 2808M 1800| 720 | 670 |1200| 600 | 300 | 6-M16 x 400
210| 3158/M | 190 |2000| 720 | 670 |1400| 700 | 300
160M/L 1400| 650 | 600 | 940 | 0 | 230 | 4-M16x 400
CZ250-200-250| 250 | 200 | 180 | 315 | 425 | 660 | 5 | 125 160
180M-~2255 1600| 650 | 600 |1060| 530 |.270 | 6-M16x 400
125 | 160M~250M 1800| 720 | 670 |1200| 600 | 300
CZ250-200-315| 250 | 200 | 200 | 355 | 450 | 670 | 6 160 6-M16 x 400
; 120| 2805M | 1800| 720 | 670 |1200| 600 | 300

>> 31 <<




International Standard Chemical Pump Intarnational Standard Chemical Pump

CZZ B Prt5 EH TR

<< f%REML: Performance curve ~>> << $MERFERTE Overall installation dimension diagram ~ >>

] s | 1450 | m A e 250 HE 7 o .
CZ250-200-400 . ; g A | 200 o | 1450 | A D4 250 dE
Type Speed r/min | r/min | Inlet caliber | mm | Outlet caliber | mm TYP; SRR Speed r/min | r/min IE}:I ca]'ﬂfr mm Oﬁljﬂlf\;r ﬁgg git[ﬁ[ﬂ .
Him) 60 O BrGs T : Him) 100 —7 a f c K
f f e e AT et 15 DNd
e | A A T & . U&L i 17 £ == o
50 i 1| T— |l----. L B _’L [
L3, L | i * - z
I 70 kel {117 SAEDS
40 grfofr g = = L2 [ SHD
===t .-1. [, a0 = 74
30 oyt 44 MK ““ll; L a 0
A0 =
20 i B -
- 1
in | I I
8 s ! = T T =
- = : £s==
% MG 6 § u:’ip"_ T Bl
—————— = 4 =1
N;P;:']H E_._ 1 i = NPSH 2 = [_'“:T_ B
O 1080 200 300 400 500 600 TOO B00 900 |00 Ilﬂguﬁiﬂl W o 0 200 400 GO0 R0 10KHE 1200
; Qfm')
RE YR | 1450 mA LR T << R >>
300-250- _ ! F4z | 300 ik OdE 250 I | 1450 S 1300 ;
Type CZ300-250-315 Speed rimin | r/min | Inlet caliber | mm | Outlet caliber | mm '[)'p; CZ300-250-400 Speed r/min | r/min E?e,:‘;iu_llii; mm lﬁlﬂlﬂlljit 3!1512 Total Iﬁngth of motor(mm]
H{m} 30 [y | | | Him) 60 | I 1 T I [ | i mni K
T T B IERE ! 21.6MPaik 22 U, 54 Seat 1™ g
I : = : q_.|1 & sk ul 50 ] I i Additional drawings for 1.6MPa flange dimensions number 2ﬂPg|a[4ﬁPq{gL2§Pnlq.4ﬂPoi
) ST et _ 4 | Ran | 180M 730 730
SNA [~ L0 40 o W
[ o ¢ = ‘ " 200L 775 805
| < B =
¥l W S8 2255 820 845
W o 20k 0 << FEZRTR(GZEZHITGBI113.1-2000 PN2.5MPa) >> 225M | 815 | B45 | 840 | 870
- | | | - &
805 | i g e Flange dimension table (flange as per GB9113.1-2000 PN2.5MPa) 250M 930 935
Qmin - i 1 :
16 ' H " : . i - 280S 1000 1010
12 2 p v DN ®D Dk @d b n-®di
k) L o = ]
NPSH 4 e . 1 ®300 485 ®430 ©389 34 16-030 2HiM i IO
MPSH T T R
(m}) 0:} e e P e b o - {m) 0, |m I e I I_s,uu $250 D425 ®aA70 ©330 32 12— 30 3155 1260 | 1200 | 1260 | 1200
Qim'h} Qm'h) ©200 © 360 @310 ®274 30 12-m26 315M | 1280 | 1200 | 1390 | 1340
<< {4EESMR Performance parameter table >> << RERTF Installation dimensions table >>
T FESEIt HEE? Pump's ra:d rotation speed n=2900r/min | FREMEFE Pump's rated rotation speed n=1450r/min _— = 4 R < Overall dimensions of pump e R <+ Base dimensions
Impeller | ik E:d HLIHEE Motor power kW wE | HE FI) % Motor power kW Pump type BALES
Type oo |Capacty| Hoad —5rars oo T FeR 135, | EER T4 |Copaci{ Hoad Sem 1 00 | LW+ | R 58 umptype |pNs|DNd| a | h [ b1 | f [ o | i |, RUBES [ 4| 11| B | B1|L2]|13| 4] n-MdxL
mh | (m) Swg:wﬂﬁpet;cwem&ngc m¥h | (m) Spacl:wugntsm!.: j weight! 125 | 180M-250M | [1800| 720 | 670 |1200| 600 | 300 _
8 _ 550 Lt CZ250-200-400| 250 | 200 | 200 | 355 | 500 | 670 | 6 |120| 280S/M 1800/ 720 | 670 [1200| 600 | 300 | 6-M16x 400
CZ250-200-400 550 | 45 110 132
g 500 | 40 90 110 160 210 | 3158/M | 190 |2000| 720 | 670 |1400| 700 | 300
450 | 30 75 90 110 - 1200/ 600 | 300
;o g s o5 125 | 200L~250M 1800 720 | 670
CZ250-200-500 g 650 | 66 160 250 35 CZ250-200-500| 250 | 200 | 200 | 400 | 560 | 720 | 6 280S/M | 160 [2000| 720 | 670 |1400| 700 | 300 | 6-M16 x 400
550 | 55 132 160 250 5S/M 2000 '
A Lo lol e [ 1o A o0 1o e ==
©Z300-250-315 B ﬂ 25 ;2 19}]“ ]g CZ100-250-315| 300 | 250 | 250 | 400 | 560 [ 670 | 6 | 155 - 200 6-M20 » 500
C AR i - = 2805-315M 2000| 780 | 730 | 1400| 700 | 300
S 1000 | 43 160 220 315 : 225M | - [1800| 870 | 820 1200| 600 | 300
CZ300-250-400——¢ %‘ gg }?g :gg ggg CZ300-250-400 | 300 | 250 | 200 | 375 | 600 [ 720 | & | 165 | 250M-280M 2000| 870 | 820 | 1400| 700 | 300 | 6-M20 x 500
D 800 | 26 90 110 160 a158/M | 230 |2000| 870 | 820 [1400| 700 | 300
>> 32 <L > 33 <<




International Standard Chemical Pump

L«

<< M4EE#MZE Performance curve >>
g | 1450 | BA142 | 300
CZ300-250-500 ) A HH s 250 Ve Hl 1450 :
Type Speed r'min | r/min | Inlet caliber | mm | Outlet caliber | mm T‘.&'p; CZ350-300-400 Speed r/min | r/min Ee’:\cﬁh%r gf‘tg Dﬁtjglfl?:r 332
Him) 100 Gkl “]— H{m) &0 T IT
ol T A SR 1 o
B L L] e 1 —_ 50 i i -
70 A0 L] ] el | L £y i 4 ;
60 = el i EE ‘—JIJ-\ ==wmE be
50 = T i = = ]
i t ~H a0 H Eun= A
e : B
20 0 - &
10" F - I i HHHH
Gnils : I 10 —Omin L LTIV T
] I - ;‘ W B -iiﬂ TTLI T
4 T L] = (1) ‘__
2 = N : T
NPSH NPSH 2 [t
(my 0 I m} o CLLLLLILI
0 200 400 SO0 8O0 1000 1200 1400 0 5000 1000 1500 2000
Q(m'/h) ‘ Qfm'h)
W5 | czaso-300.500 | 1450 | WA |350| HEHOR 300
Type Speed t/min | r/min | Inlet caliber | mm | Outlet caliber | mm
Hm) 90 [2PLD S4-g61—1 _’] T I
/ B A
3 T 8
i ] i A
. A , el
S TS| NEPZaND
= =L [T - [ .
I T — e - :
o 5
0 , A
= i | BA |
I |
Quin 2
] . ] I %
& |
4
MPSH 2
(m} 0o 1 1
0 500 1000 1500 2000 2500
Q(m'h)
<< HHRESHEX Performance parameter table >>
ho P REUERE Pump's rated rotation speed n=2900r/min | FREIERE Pump's rated rotation speed n=1450r/min
Type Impeller £ ﬁlﬂy I-iﬁefd FEALZhEE Motor power kW R | &R H#LTHh# Motor power kW
type apac Eb® 1.00 | LW 1.35 | Lk 1.84 |Capacity Head
| () | Soae Weght|Sacalt veght|Scat watrt] o | () Syl waohSe ot oo S o
A 1200 a1 355
CZ300-250-500 B 1100 | 70 315 y
C 1100 | 60 250 355
D 850 | 45 160 220 315
A 1550 38 220 315
U 1400 | 30 160 220 315
[ " 1300 25 132 185 250
(8] 1300 | 24 110 160 200
. A 1700 | 70 450 630
CZ350-300-500 B 1500 | 62 400 500
c 1300 | 50 280 355 500
D 1100 | 41 200 280 355

>> 34 <<

H
Outlet

International Standard Chemical Pump

5ps %R TE Overall installation dimension diagram

>

Bl
B
pais oD < @.*ﬂ.-ﬂ‘fﬁ >
| Ok Total length of motor(mm)
®d n-0dl s K
Ly FE1.6MPaik 2= RF, B 4heriE Seat Y YB
| Additional drawings for 1.6MPa flange dimensions number {24k Pole|d fPole{24kPole|4 4 Pole|
\ = 250M 930 935
2808 " 1000 1010
<< FER4ER(GEZHTGBI113.1-2000 PN2.5MPa) > 280M 1050 1060
Flange dimension table (flange as per GB9113.1-2000 PN2.5MPa)
3155 | 1260 | 1200 | 1260 | 1200
DN ®D ok ®d b n-odi
®350 ®555 490 448 38 16-033 315M | 1280 | 1200 | 1390 | 1340
®300 ®485 430 389 34 16- 030
©250 ©425 ®370 ©330 32 12-030 SASH | RRR T 9450|1560 |1
<< RER-TEX Installation dimensions table >>
=H8 8 bR < Overall dimensions of pump [EEER < Base dimensions
Pumptype [pNs[DNa| a | h [ mi| ¢ [ e | i [yBMER=S | H | L1 | B |B1|L2]|13|L4]| nMdxL
250M-315M 2000| 870 | 820 |1400| 700 | 300
(£Z300-250-500 | 300 | 250 | 200 | 425 | 670 | 720 | 6 | 165 200 6-M20 x 500
315L 2240| 870 | 820 |1600| 80O | 320
250M~315M 2000| 870 | 820 |1400| 700 | 300
(CZ350-300-400 | 350 | 300 | 240 | 450 | 630 | 720 | & | 165 200 6-M20 x 500
315L 2240| 870 | 820 | 1600| 800 | 320
C7350-300-500| 350 | 300 | 240 | 450 | 750 | 835 | 6 | 225 | 280S~315M | 230 |2240| 970 | 920 |1600| 800 | 320 | 6-M20x 500
>> 35 <<




International Standard Chemical Pump

CZF 5 5Pt #E L TR

<< REMREMNEESHHNBTHEIEER Corrosion resistance option of materials for pump's main parts touching medium > >

S B BRI RS AL % R ( SURR M ) 1
HVRRE & AR SR BB — T B4R

B RS B AR SR A A B,
K “BRIE" (mm/a)R T,

BREMBEORE, BESH: BHMEMMAT
O.1mm/akyh R, R ARSI RE SRS B B SRAE 0. 1
1mmva, FRHMEBEEE; BEREXTFImmia, HAHHE
MR SF OB,

— R 51 A BB AR TR R
d, AR AT,

HEFRPEAR, REFRENREYE, BFEER
MEBT A ETE A, AWBRHTHT .
ZG1Cr18Ni9(302),ZG1Cr18NigTi{321),ZG0CH BNi1 2Mo2Ti (316Ti),
ZG1Cr18Ni12Mo2Ti(307),ZG00Cr1 7Ni1 4Mo2(316L),ZG1Cr18Mn
13MO2CUN (402)4% b4 1 1 E e BLA T %,

Generally the corrosion depth (also called corrosion velo—-city) is
used as a primary index to evaluate the corrosion resistance of metal
materials.

The corrosion depth refers to the corrosive metal depth of metal
materials in unit time, expressed in "millimeter annually" (mm/a).

By different degrees of corrosion, it is usually divided into:
corrosion resistance material with a corrosion depth less than 0.1mmva;
passable corrosion resistance material with a corrosion depth between
0.1-1mm/a; and weak corrosion resistance material with a corrosion
depth larger than 1mm/a.

Generally the passable corrosion resistance material can be
adopted for main parts of pump contacting medium on the condition of
specified medium.

To facilitate the user to select the proper corrosion resist-ance of
materials of main pump parts in accordance with conditions of
transporting medium during the pump selection, the instructions are
provided with the compilation of corrosion resistance tables of such

materials as ZG1Cr18Ni9(302), ZG1Cr1 8NIi9Ti(321),
ZGOCr18Ni12Mo2Ti(316Ti), ZG1Cr18Ni12Mo2Ti(307),
ZGOOCr17NiI14Mo2(316L) and ZG1Cr1 8Mn13Mo2CuN({402) for

raterence.

R -

<< ZG1Cr18Ni9(302) MY i i tE AR ZG1Cr18Ni9(302) Comparison table of corrusiﬁn;/rééktaﬁﬁerof steel >

It %% Medium condition Bt e 5 “fr &4 Medium condition B8 e R
Corrosion depth Corrosion depth
vifii (%) BEE(T) (mm/a) el HREE(%) RE(T) (mm/a)
Medium Concentration | Temperature Medium Conceniration | Temperature
0.5~99 20 =0.1 1 20~90 0.002
7~37 i# Boiling 0.1~1 5 20 0.6
65 # Boiling <1 5 40 <3
- 83 37 0.0 5 50 3~4.5
Ok 4 W B
itri i I acid
Nitric acid a3 55 0.21 ulphuric aci & 100~105 33-15
97 55 0.76 10-50 20 2-5
99 55 1.25 80 20 0.46
99 # Boilingv <10 90-95 20 0.0006~0:008
10 i Boiling =0.1 1=60 20 =0.1
[ __
Acetic acid §0 # Boiling = A ; - b
80 # Boiling <3 Citriz s 50 # Boiling <10
® e '
Sulphuric acid 05 190 0.06~0.14 : 95 20-140

>> 36 <<

International Standard Chemical Pump

-----------------

< ZG1Cr18Ni9Ti(321) A0 HE s RE® ZG1Cr18Ni9TI(321) Comparison table of corrosion resistance of steel - >>
11 B4 % Medium condition 1 ol ¢ 11 J0 # 4+ Medium condition B
Corrosion depth ﬂ' T BE(T) Corrosion depth
% i (C) (mm/a) (mm/a)
Mgﬁm Cor?a?nlim:iiim Temperatura M.dﬁlm on | Temperature
30 20 0,007 Hi80478
. 20 0.003
50-56 20 0 HNO40.5
03 43 0.05 HeS0478
90 0.05
o 55 0.03 HNO30.5
Nitric acid - = e
97 55 0.76. W H:S0478
20 0.0018
99 55 1.25 HNOa1
55 <10 H2S0478
. ) 0.0251
2 50 0.016 HNOs1
2 100 3~6.5 20 20~i% Boiling =0.1
- % 3-4.5 50 20 <0.1
Sulphuic acid| 5 50 Pﬁgﬁtﬁﬂ
r “A% 100~105 3.3-15 hydroxide 50 <0.1
et # Bolling
; BLE >10
80 20 0.46 s 1
1~ 5 ~12 100 0.0044
Concentrated i - S
10 <0.1 podk e -35 100 0.008
Ll 20-40
Acetic acid EiEEE - il 0.1
Y 50 <0.1 W | S 25 20~ Boiling <
80 <0.3 Mgﬁﬁm 10-50 100 <0.1
10 0.01 Sod%n?;zzxids 10 20~ Boiling <0.1
28 80 0.67 i 2550 # Boiling <0.1
s -1 5~ 100 <0.1
Phosphoric acid i a BT Saturated
Sodium sulfate 154k a
60 60 1.7 bt e 900 >10
[ §uFdi Sup S AR il <0.1
80 110 Expessive cormosion depih Silver nitrate fhs # Boiling
Y
1-50 20 <01 g :FDW 20 <0.1
5 <1 G :F:’:-fym 100 >10
Citric acid Ear #MiEN :
i 50 <0.1 Bleaching powder Moist i e
F R
95 20~140 <0.1 Dry 20-100 <0.1
wULE It 1 &
L ﬁ:{'ﬁgg 130 <0.1 CHrRRde Ory 100-500 <
Sulfur ki “Xa
Melted 4
>> 37 <<




International Standard Chemical Pump

................

<< zaocnaanMozTi(sziIﬁﬂﬂﬁﬁ’&aﬁi ZGOCr18Ni12Mo2Ti(316Ti) Comparison table of corrosion resistance of steel

>
It S Medium condition BHREE It R4 Medium condition gl i
Corrosion depth Corrosion depth
b1y REE(%) RE(T) (mm/a) iy R BE(%) ME(T) (mm/a) j
Medium Concentration | Temperature Medium Concentration | Temperature
1-5 20 .1 10 20 1
=0 = o <0
Hydrofluaric acid
1-5 80 =0.1 10 100 1-3
5 #1 Boiling <0.1 10-20 # Boiling =0.1
20 20-80 <0.1 30 100 <0.1
40 90 <0.1
50 20~50 <0.1
_ﬂ‘lﬂtﬂ 50 =01
50 80 <b 1 Sodium hydroxide
50 100 <0.1
50 i# Boiling <0.1 :
60 a0 <0.1
60 20~60 <0.1
a0 <0.1
i B ;
s 60 i# Boiling 0.1~1
Nitric acid 25 20 <0.1
65 2 i1
A A 25 60
65 85 <0.1 25 |
H — 4
# Bolling 0.1-1 Oxalic acid 10 a B,
1Y
| T A,
20 <0.1 10 T Boiling 1-3
90 70 0.1~1 50 i# Bolling 0.1-1
90 # Boiling 1-3 25 # Boiling <0.1
9 1-3 Smike 50 20 <0.1
d L s Potassium
hydraxide # Boilin 9
99 # Boiling 3-10 i e
68 120 <0.1
05 20 =0.1
BB 5-10 20 <0.1
1 <0.1 Potassium
permanganate 10 # Boiling <0.1
3 <0.1
W 0.5 1-3
Sulphuric acid
40 <0.1
3 =0.1
80 20 0.1-1 p =
n =Lk
Hydrochloric acid
98 20 <0.1 ¥ 10 B
Sk 2 20 <0.1 30 3-10
Sulfurous acid
20 20 <0.1

International Standard Chemical Pump

CZF 3Bt B TR

>> 38 <<

<< ZG1Cr18Ni12Mo2Ti(307) RO HIEAER ZG1Cr18Ni12Mo2Ti(307) Comparison table of corrosion resistance of steel - >>
gt W ilm ¢ #r B &4 Medium condition - RhREE
Tt R &% Medium oundlﬁnrl v | Mt deoc
Medium Medium Concentration | Temperature
<1 10 # % Boiling <1
" " 01
' 8 80 d Chromic acid . 3 £ 5
5 20 <0.1 50 i3B% Boiling <0.3
5 80 13 10-30 20~46h% Boiling <0.1
v 20 i | P— 40-60 120 <0.1
- 10 80 1-3 h?dog:m‘ L 160 <3
Sulphuric acid 20 20 <0.1 78 120 <0.1
20 60 <0.3 ity 318 1-3
40 20 <0.1 25-50 20~ # M Boiling <0.1
S
40 60 =10 Potassium 68 120 =0.1
hydroxide -
20 <1 s tul 300 1-3
60 3-10 JFE’,'r‘yW 20 <0.1
20 <0.1 A 20 <10
PGB o | o || oo HEE T w0 | o
i ; K
“Srn:tll%rﬁfacid Hﬁﬁ?gﬂ 8 =l Chlorine water 20 <1
L kL) # 8 Boiling o
MR 160~200 B4 Chlorobenzene Blurg 5
8- ; FiR
N e - 1=E Solution in drying 20 <0.1
Bleachin der 259L01
1-80 20 <0.1 dagaad . 20 <0.1
e,
1~45 # M Boiling <0.1 wis ;Féﬁ'%;;‘* 20~100 <1
Lt i 140(0.3MPa) <0.1 Chiorine hydride *,ﬁymgi“ 200 <10
Phosphoric acid s
80 60 <0.1 . 30~50 20 3
8-~
80 110-#M Boiling 1-3 ..o IR 100 <0.1
W ;
0.5 20 <01 Caloh s ohiside | Soii S s 100 <01
05 %M Boiling <3 o 8. /3 20 >10
in
1 20 <0.1 Triioél“omgmne Sﬁam 60 <0.1
i i
1 50 <3 Polas i poridell e 20 <041
5 20 <0.1 ﬁ‘fﬁf 20 <0.1
i TRRME Ll 300 <0.1
Hydrochloric acid S i <3 ] o ol ;;'5;::3
10 20 <1 anhydride Moist 500 <1
10 60 3-10 Wina 900 <3
20 20 <3 Soumm 50 #B8 Boiling <0.1
20 60 >10 ... 50 #4 Boiling <01
30 60 3-10 P ofns) mﬁfﬁ.ﬁfﬂﬁg # B Boiling 0(190h)
R X =il 20 <0.1
<0.1 : :
Chromic acid 10 20 Urea Solution
>> 39 <<




International Standard Chemical Pump

CZE I E 547 b T 3=

<< ZGOOCr7Ni14Mo2(316L) iR B b it 5 % ZGOOCr17Ni14Mo2(316L) Comparison table of corrosion resistance of steel >
R Medium condition [ bR B #r B %t Medium condition BihREr
Corrosion depth Corrosion depth
I B PREE(%) () (mm/a) IR (%) RE(T) (mm/a)
Medium Concentration | Temperature Medium Concentration | Temperature
0-30 25 <0.3 g 20
Methanoic &I:H'd-i- Bifﬁg 0.401
10 0= <0.3 acetic acid 45
W R 1
Sulphuric acid 40 25 >0.3 0 Bailing 0
E 3
85 25 <0.3 P 50 Boiling 0.005
Acetic acid
98 25~50 <0.3 70 B?gg 0.018
40 70~100 <0.3 99 Bﬁlﬁg 0.035
e RE3I2~-34
40 Boiling =0.3 Ues
50-60 70~100 <0.3 C0:10-11
35 AL BR 7%
= - a Melted urea o 190~150 0.065
, 2 Bailing i =
P OB ol
Phosphoric acid . @
70 70-90 <0.3 H:019-~21 ‘_g;
| |
70 100 >0.3 C0:35 uy )nt |
80 70-80 <0.3 Mﬁgﬁﬁﬂ NHs54-55 170~180 0.024
80 >80 >0.3 H:010
FR#30
= 22 Urea solution
{HERRR :
4 H#R3o
Coarse 190 14
At B Concentrated R Ammonium formate . o
e Melted urea d
Boiling <0.0005 MNHa20
i
P B 20 Boiling 0.26 H=020
Methanoic acid+
acetic acid 70 g 0.26 i SRR ENIE =200
Boiling 4 \_Note: melted urea's prassure=200

ZG1Cr18Mn13Mo2CuN(402) B E R THW, Hr %
ﬁﬂ:lfrﬁrhEﬂmmﬂmﬁ%m"thmcnamgﬁ(azmﬂ, *
HREMMIEESERMFN R THZGICHBNIOTIER, #1
it RE RS E M AR I, BSAHBELZGICr8NITIR, it
B REZE LR F AT S ZG1Cr1BNIOTIR M e,

>> 40 <<

ZG1Cr18Mn13Mo2CuN(402) is the nickel~free stain-less steel,
which is equivalent or superior to the ZG1Cr18NigTI(321) regarding
its corrosion resistance in a majority of chemical media, especially in
such a condition as both corrosion and abrasion coexist. Its mechanical
and casting properties are better but its air hole sensibility is bigger than
ZG1Cr18NigTi. Based on that, its corrosion resistance can refer to
the corrosion resistance table of ZG1GCr18Ni9Ti,

International Standard Chemical Pump

CZE Gtk T3

<< RAFTEE Schematic Diagram For Pump Assembling >>

Vime st W EE BAAH

i} 4 pL il
s ai Mechanical seal  Sealing gland  Hanger bracket part

Casing Retaining nut Impeller  Pump cover  Bushing

i

BREER REL
Suspension bracket Pump connection

> 41 <<



	Ò³Ãæ  1
	Ò³Ãæ  2
	Ò³Ãæ  3
	Ò³Ãæ  4
	Ò³Ãæ  5
	Ò³Ãæ  6
	Ò³Ãæ  7
	Ò³Ãæ  8
	Ò³Ãæ  9
	Ò³Ãæ  10
	Ò³Ãæ  11
	Ò³Ãæ  12
	Ò³Ãæ  13
	Ò³Ãæ  14
	Ò³Ãæ  15
	Ò³Ãæ  16
	Ò³Ãæ  17
	Ò³Ãæ  18
	Ò³Ãæ  19
	Ò³Ãæ  20

